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Question Number : 1 Question Id : 146587501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is the most predominant crop of Chhattisgarh?
Options :

1465872001. * Sugarcane

1465872002. * Bajra

1465872003. * Jowar

1465872004. ¥ Rice

Question Number : 1 Question Id : 146587501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafed & 3 o O ST & 9ad e Had 82
Options :

1465872001, % TTAT

1465872002. * &SI

1465872003, # SdRR




1465872004. ¢ d1dcl

Question Number : 2 Question Id : 146587502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Abujhmad mountains are situated in region of Chhattisgarh.
Options :

1465872005. ¥ Bastar

1465872006. * Korba

1465872007. * Balrampur

1465872008. * Bilaspur

Question Number : 2 Question Id : 146587502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SIS Udd BTG B RERATINES
Options :

1465872005, ¥ TR

1465872006, % DIRET

1465872007. ¥ SERTHYR
1465872008, % faeir g

Question Number : 3 Question Id : 146587503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An ancient temple of the is in a village named Nagapura in Durg district.
Options :

1465872009. # 24th Tirthankara Mahavira

1465872010. # 20th Tirthankara Munisuvrata

1465872011. % 23rd Tirthankara Parshvanathji

1465872012, # 1st Tirthankara Rishabhanatha



Question Number : 3 Question Id : 146587503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
@m%qW(Nagapura)WTﬁaﬁ &1 TP T Al B
Options :

1465872009. * 249 T ARTER

1465872010. ¥ 20d ciefex gHAgad

1465872011 ¢ 239 difep? TrsfmaSht

1465872012, % T difhr BYYATY

Question Number : 4 Question Id : 146587504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was NOT a leader of Kandel Canal Satyagrah in Chhattisgarh?
Options :

1465872013. ¥ Narayan Rao Meghawale

1465872014. # Pt. Sundarlal Sharma

1465872015. ¥ Dr. Anugrah Narayan Sinha

1465872016. * Babu Chhotelal Srivastava

Question Number : 4 Question Id : 146587504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FafRad o 9 &H Sae | §U Hsd 6% TATIE & SRl a1 Tgt 42
Options :

1465872013, % TR0 (9 HaTdTel

1465872014, % U, Yexara !

1465872015. ¢ I. 3798 AR {51

1465872016. % ST Blcard Harkd




Question Number : 5 Question Id : 146587505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following was a leader of strike in Bengal — Nagpur Cotton Mil of Rajnadgaon?
Options :

1465872017. # Satyendra Narayan Singh

1465872018. ¥ Thakur Pyare Lal Singh

1465872019. * Basawon Singh

1465872020. * Baikuntha Shukla

Question Number : 5 Question Id : 146587505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafeiad o @ ®F IsHiea fRUd Sa-ANTQR ®le id ggdra & S/l 3T 22

Options :

1465872017. % gdg AR &g
1465872018. ¢ 31HR TR Rig
1465872019. * g1 g

1465872020, * d%o ol

Question Number : 6 Question Id : 146587506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Lingo Pen is a of the Gond Tribe.
Options :

1465872021. ¥ Kul Devta

1465872022. # Sacred Tree

1465872023. ¥ Cult Hero

1465872024. # Religious Sect

Question Number : 6 Question Id : 146587506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

fofTT O, TS Siota H1/d Rl
Options :

1465872021, ¢ Hacadl

1465872022, % UfaA g&f

1465872023, % e BRI

1465872024, # YT Tuer™

Question Number : 7 Question Id : 146587507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Chhattisgarh folk dance form in which the dancers are mounted on two long bamboo or any firm sticks and maneuver through the crowd of
other such dancers is called:

Options :

1465872025. # Raut Nacha

1465872026. ¥ Gendi dance
1465872027. ¥ Karma dance
1465872028. #* Jhirliti dance

Question Number : 7 Question Id : 146587507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; , BTG B 98 Al T el o, o 7o o did 91 a1 fordt oft 2¢ S R Igar T g1 39 Ad®! @t s siwrd famma
I

Options :

1465872025, * (3 Al

1465872026. ¥ TiSt T

1465872027. % HIH ]

1465872028, # fgRfere I

Question Number : 8 Question Id : 146587508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Which caves of Chhattisgarh have the distinction of hosting the oldest sculptures on earth which look similar to Mexican and Spanish sculptures?
Options :

1465872029. ¥ Kailash Caves

1465872030. ¥ Kutumsar Caves

1465872031. ¥ Singhanpur Caves

1465872032. * Sita Bengra Caves

Question Number : 8 Question Id : 146587508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST DI b 13T ) gedt IR Hinle Jad QR Jferd! ) TG &1 7Rd T 8, ST AfRyes 8ik Wi gfcfat & wew fowadt 82
Options :

1465872029, # HAT BT

1465872030. ¥ HCHIR THIY

1465872031, ¢ RIT-TGR BT
1465872032, % HIdT §TRT HTY

Question Number : 9 Question Id : 146587509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Tribes Advisory Council (TAC) in Chhattisgarh can have a maximum of members.
Options :

1465872033. * ten

1465872034. * fifteen

1465872035. ¥ twenty

1465872036. * twenty-five

Question Number : 9 Question Id : 146587509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



SUITE H SHSId ATBHR UREG (TAC) H 3Hfedhad o g1 9hd g |
Options :

1465872033. % g9

1465872034, % Ugg

1465872035, ¥ &1

1465872036, % U=

Question Number : 10 Question Id : 146587510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Constitutional provision under article confers plenary power on the Governor to bring independent legislations in respect
of tribal affairs in consultation with the Tribes Advisory Council (TAC).

Options :

1465872037. % 124
1465872038. * 189
1465872039. ¥ 244
1465872040. * 256

Question Number : 10 Question Id : 146587510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3Jda & dgd Ay Yaufe uraurl & dgd, IsTuTd &l Seid Iae®R URYS (TAC) & RS I 3nfeandt amel & &y
Y Tadd Ay (@) am & forg o wifed uem &1 718 B

Options :

1465872037, % 124

1465872038, % 189

1465872039, ¥ 244

1465872040, % 256

Question Number : 11 Question Id : 146587511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which department is responsible for discharging its responsibilities to ensure maintenance of law and order, internal security and overall peace
within the state?

Options :

1465872041. * Police
1465872042. ¥ Home
1465872043. # Judiciary
1465872044. # Secretariat

Question Number : 11 Question Id : 146587511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

B T FIHTT T & R BT o=y, MR GRaM 3R FAY i R 33 & 309 <1l &1 Fide 3 & oy IwRerE giarg?
Options :

1465872041, % gferg

1465872042. ¥ 1@
1465872043, % TR
1465872044, % Farag

Question Number : 12 Question Id : 146587512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who of the following is entrusted with responsibilities relating to coordination of procurement of institutional finance for all externally-aided
projects of the Government of Chhattisgarh?

Options :

1465872045. # Chhattisgarh Industrial Development Corporation
1465872046. # Finance Ministry Chhattisgarh State

1465872047. # Secretariat

1465872048. ¥ Directorate of Institutional Finance (DIF)

Question Number : 12 Question Id : 146587512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fgfefed & O fhd STe WHR & O+ SRI-Terdl Ui uRaisH1ef & forg SR fod ! it & 990 ¥ J6idd Swarid
Jia 7T g2

Options :

1465872045, # FTE 3N fawm

1465872046. * o AT BRITG I

1465872047, % gidray

1465872048, « TRINT fod TaTa=erd (DIF)

Question Number : 13 Question Id : 146587513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The densely-forested tracts of which hills/range are home to the indigenous tribes of Gonds and Abuj Marias who live in isolation and occupy the
secluded enclaves of the Bastar region?

Options :

1465872049. # Maikal Hills
1465872050. # Bailadila range
1465872051. % Chirmiri Hills
1465872052. ¥ Abujhmar hills

Question Number : 13 Question Id : 146587513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fb1 UgTSal/add AR & ° STl aTall Y- HIT TS 3R SrITSar &) Wi SHofad! BT Marg-®IM 8, S Uoid § ¥6d § 3R §&R
&3 & A UREA TR 30T 86 ST 67

Options :

1465872049, ® T d UgIiSal
1465872050. ® SdTSIdl Uad Sforay
1465872051, % R} ugIfsar

1465872052, ¥ GFHIS TSl

Question Number : 14 Question Id : 146587514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Chhattisgarh ranked in expenditure on the social sector (about 57 per cent), as a percentage of total expenditure, among the BIMARU
states, as per the budget estimates of 2015-16.
Options :

1465872053. ¥ first
1465872054. # second
1465872055. * third
1465872056. #* fourth

Question Number : 14 Question Id : 146587514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2015-16 & oI WTah el &b TR, BUTE, SHHRS (BIMARU) I B T, ol o0 o UfA=Id & =0 B JrH1SdH &5 TR T (AU 57
gfd=re) # R R |

Options :
1465872053. ¥ UG
1465872054, ¥ GIX
1465872055. % TRIY
1465872056. # AY

Question Number : 15 Question Id : 146587515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bauxite exploitation in the Chhattisgarh State is reserved for the , either singly or through JVC working.
Options :

1465872057. * private sector undertakings

1465872058. ¥ public sector undertakings

1465872059. ¥ government subsidiaries

1465872060. * local contractors

Question Number : 15 Question Id : 146587515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

SUNIG T § dIqgIgce B Gl & fom oRfera g, a1 d Thd dR W AT JvC I9H & H1eaH |
Options :

1465872057, % TSl &3 &b IUhH
1465872058, + TIdSIPb &3 & IUsh Al

1465872059, # TRBRI gTID DU
1465872060. ¥ I SHaR]

Question Number : 16 Question Id : 146587516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was appointed as the Individual Satyagrahi in Raipur during the Individual Satyagraha movement in Chhattisgarh?
Options :

1465872061. ¥ Ravishankar Shukla

1465872062. ¥ Mahatma Gandhi

1465872063. # Chedilal Singh

1465872064. ¥ Raghunandan Singrauli

Question Number : 16 Question Id : 146587516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURATG H TG TATE Sficiad & SR AR H SAfaaiTd Tae! & *u H ford e fasar war um
Options :

1465872061, ¢ ARDHR Yol

1465872062, % TETHT el

1465872063. % Jarard Rig

1465872064, % T RITRIH

Question Number : 17 Question Id : 146587517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Across which of the following rivers was the Khutaghat dam built?
Options :

1465872065. # Mahanadi river

1465872066. # Sondur river

1465872067. # Hasdeo river

1465872068. ¥ Kharang river

Question Number : 17 Question Id : 146587517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 o O 7t W Jerare iy &1 At fasar mar
Options :

1465872065, % HE4I el

1465872066. ¥ Higx -al

1465872067. ¥ g§Had g

1465872068. ¢ WA -Td]

Question Number : 18 Question Id : 146587518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which author from Chhattisgarh wrote the story "Ek Tokri Bhar Mitti"?
Options :

1465872069. ¥ Hari Thakur

1465872070. ¥ Madhav Rao Sapre

1465872071. ¥ Krishna kumar sharma

1465872072. # Pyare lal gupta

Question Number : 18 Question Id : 146587518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BURATG & [ Ta® A T TIhel-+R gt wer foret g2

Options :



1465872069. ¥ B BIH
1465872070. ¢ HIYT I[d T
1465872071, ¥ W[ HHAR AT
1465872072, % TS Wl

Question Number : 19 Question Id : 146587519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is the first Chhattisgarhi film made in folk language?
Options :

1465872073. ¥ Kahi Debe Sandesh

1465872074. * Pardeshi ke Maya

1465872075. * Jaan Bhulao Maa Baap La

1465872076. ¥ Tura Rikshawala

Question Number : 19 Question Id : 146587519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Al UTT & &9 aTelt Ul BeieTg! fthed B it 82
Options :

1465872073. ¥ Bl ¢ ¥l

1465872074, ¥ TRCH! & T4l

1465872075, % YS! A &9 @1

1465872076. % X1 Rar=raral

Question Number : 20 Question Id : 146587520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the folk dance of cow herds in Chhattisgarh?
Options :

1465872077. # Reela



1465872078. * Gaura
1465872079. * Pandavani
1465872080. ¥ Raut Nacha

Question Number : 20 Question Id : 146587520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e # & SxiTe # 1Tl &1 e T B a1 32
Options :

1465872077. % el

1465872078, % TIRT

1465872079, % UsdM!

1465872080. ¥ S AT

Question Number : 21 Question Id : 146587521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When Chhattisgarh has bagged national ‘Agriculture leadership Award’?
Options :

1465872081. ¥ 2017

1465872082. # 2018

1465872083. * 2019

1465872084. % 2020

Question Number : 21 Question Id : 146587521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG I PR ThideeR AR Sfare Fa e 32
Options :

1465872081. ¥ 2017

1465872082. # 2018



1465872083. # 2019
1465872084. # 2020

Question Number : 22 Question Id : 146587522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who is the Hon'ble Minister of Forest, Chhattisgarh as on Nov 2019?
Options :

1465872085. # Shri Bhupesh Baghel

1465872086. ¥ Shri Mohammad Akbar

1465872087. ¥ Manoj Kumar Pingua

1465872088. ¥ Rakesh chaturvedi

Question Number : 22 Question Id : 146587522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TdER 2019 TP TG P HAHI I HA DM 82
Options :

1465872085. * ot 1 U S

1465872086. ¥ $ HIgHG 3HaR

1465872087. % TSl HUR UL

1465872088, % ITHT ATIC

Question Number : 23 Question Id : 146587523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is the head quarter of Bastar district?
Options :

1465872089. ¥ Kanker

1465872090. ¥ Jagdalpur

1465872091. ¥ Balod



1465872092. * Kurud

Question Number : 23 Question Id : 146587523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SR 7 T FReATerg B A1 82
Options :

1465872089, ¥ i

1465872090. ¥ SHGAYR
1465872091, ¥ STdIC

1465872092. ¥ HFG

Question Number : 24 Question Id : 146587524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many Janpad panchayats(blocks) are there in Chhattisgarh?
Options :

1465872093. # 160

1465872094. % 157

1465872095. ¥ 146

1465872096. * 137

Question Number : 24 Question Id : 146587524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

UG U $d fha-! oHug Uard (Said) 62
Options :

1465872093. # 160

1465872094, # 157

1465872095. ¥ 146

1465872096. * 137




Question Number : 25 Question Id : 146587525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who bagged the Prime Minister's Trophy for the best overall performing integrated steel plants for the year 2016-17?
Options :

1465872097. # JSW Steel Limited - Vijayanagar

1465872098. # JSW Steel Limited - Dolvi

1465872099. ¥ Tata Steel Limited, Jamshedpur

1465872100. * Bhilai Steel Plant, Jacob Kurian

Question Number : 25 Question Id : 146587525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T8 ¥ fam 98 2016-17 & 70 TAYS THY UG HRA aTc U ighd I¥Td Ga3A! o forg Tt HAt 1ot UTed &2
Options :

1465872097. % JSW XKId [AHCs - faSa R

1465872098, ¥ JSW X Id [AIffcs -Stardt

1465872099. ¥ TIeT LId [Affice, STHRIGER

1465872100. * TQTE WId Wiie, Shd HRaA
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Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 146587526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which of the following input devices is the roller ball on top and the user does NOT need to move the whole device in order to move the
graphics cursor?

Options :

1465872101. ¥ Mechanical mouse
1465872102. * Optical mouse
1465872103. ¥ Trackball
1465872104. * Joystick

Question Number : 26 Question Id : 146587526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaRed @ § frd 3ge fearsy & iy R AR afd gia1 8 SR Tfhad HIR & RIFART (Jd) HA & [T SudTewdl & IR f$agy &1
QMR B3 BT STaIDH T Aot gieht 82

Options :

1465872101, # AbfAdmd ATSY

1465872102, % 3HPHd ASY

1465872103, ¢ Chald

1465872104, % SORcH

Question Number : 27 Question Id : 146587527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A computer system consists of one or more USB ports. What does the term USB mean?
Options :

1465872105. * Unique Serial Bus

1465872106. ¥ Universal Serial Bus



1465872107. * Universal Service Bus
1465872108. * Universal Serial Buffer

Question Number : 27 Question Id : 146587527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

U SR Rited H T 1 31fYes .l (USB) UIE B1d &1 USB (4,TH.Sl) T U1 0 1 &2
Options :

1465872105. ¥ Unique Serial Bus ({1 ST &)

1465872106. ¥ Universal Serial Bus (ZFa¥id ST )

1465872107. % Universal Service Bus (fawd Tid¥ a¥)

1465872108. * Universal Serial Buffer (mmm

Question Number : 28 Question Id : 146587528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are TRUE?

(1) A bar code reader is an input device which is used to decode bar-coded data.
(i1) Dot-matrix printers print characters and images as patterns of dots.

Options :

1465872109. % Only (i)
1465872110. * Only (i)
1465872111. ¢ Both (i) and (ii)
1465872112. * Neither (i) nor (ii)

Question Number : 28 Question Id : 146587528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFffed & ¥ o T HYT I 82

(i) IR BIS TR, 39 f5arzy 7, e ST SR-$HISS ST &l SIbls B & [ BT g |
(i1) ﬁ?—ﬂﬁaﬂ ﬁa, BIGIEY (characters) 3R sl (images) ﬁ@ﬁ%ﬂﬁﬁ%@ﬁﬁ?ﬂﬂﬁ%l




Options :

1465872109, ¥ &Hdd (i)
1465872110, % HAd (ii)
1465872111, ¥ (i) 3R (ii) QI
1465872112. % Fdl (i) T8 (ii)

Question Number : 29 Question Id : 146587529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is TRUE?

Options :

1465872113. #® The primary storage of a computer system is also known as secondary memory.
1465872114, ® The primary storage of a computer system is also known as tertiary memory.
1465872115. ¥ EEPROM is generally used as the primary storage in personal computers.
1465872116. ¥ Both SRAM and SDRAM are volatile.

Question Number : 29 Question Id : 146587529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol @ 3 &F 9 Sy 9 82

Options :

1465872113, # W%W%mm (primary) WISl B fgaidd (secondary) HHRY & &0 H HI ST ST gl
1465872114. ® W en & Tyt (primary) WIS DI (jdnlqdn AR (tertiary memory) & =g H Wt SIH1 ST %l
1465872115, ¥ EEPROM &I IUANT THTI: WA HeR | WIS (primary) TIRS & =0 H gl |

1465872116, ¥ SRAM 3{R SDRAM &I didcgd gld ¢

Question Number : 30 Question Id : 146587530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of a computer register?
Options :



1465872117. ¥ Word size
1465872118. ¥ Program counter
1465872119. ¥ Megahertz
1465872120. # Gigabytes

Question Number : 30 Question Id : 146587530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafRad o @ ®1F 1 e IR HT TS IS8R0 72
Options :

1465872117, # TS TS (Word size)

1465872118, ¢ UIITH B3 (Program counter)
1465872119, % TRIECS (Megahertz)

1465872120. % TNTETSCY (Gigabytes)

Question Number : 31 Question Id : 146587531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the truthfulness of the below statements?

(1) In PROM, the letter 'P' stands for 'permanent'.
(ii)) EEPROM is also known as UVPROM.

Options :

1465872121. # (i) - TRUE; (ii) - TRUE
1465872122. # (i) - TRUE; (ii) - FALSE
1465872123. # (i) - FALSE; (ii) - TRUE
1465872124. ¥ (i) - FALSE; (ii) - FALSE

Question Number : 31 Question Id : 146587531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFufeiRed & 9 &9 91 fawey 2 fU U Sy=1 &) Idar o1 gaiay guiq &d1 22




(i) PROM T P 3HER BT EI;UTFEI ' permanent (‘CRTITef_C')' HGIE
(i) EEPROM & UVPROM H ST ST B |

Options :

1465872121, # (i) - I (ii) - T

1465872122, # (i) - T (ii) - 3TA

1465872123, # (i) - 3; (ii) - I

1465872124. ¥ (i) - 319, (ii) - 3TA

Question Number : 32 Question Id : 146587532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following languages offers a client-side executable code called 'Applet'?
Options :

1465872125, ¥ Java

1465872126. * PHP

1465872127. % ASP

1465872128. # C#

Question Number : 32 Question Id : 146587532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fAfRad o ¥ ®1F T U TWIT (Applet) THS aellec-U3E Tdllagdedd HIs UaH HRdl 82
Options :

1465872125, ¢ Idl

1465872126. * PHP

1465872127. % ASP

1465872128. # C#

Question Number : 33 Question Id : 146587533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the columns and select the most appropriate option from those given below.

a) ASPNET | i) Lightweight data-interchange format

b) JISON il) Server-side scripting language developed by Microsoft

¢) Clang ii1) Open source relational database management system

d) MariaDB | iv) Compiler front end for the C, C++, Objective-C and Objective-C++ programming languages

Options :

1465872129. ¥ a-ii; b - i; ¢ - iv; d - iii
1465872130. * a-1i;b-1ii;c-1iv; d - iii
1465872131. # a-ii;b-iii;c-iv;d-i
1465872132. # a-ii;b-1i;c-iii;d-iv

Question Number : 33 Question Id : 146587533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

mﬂﬁmﬁﬁﬁ%@mﬁﬁﬁﬁ@mﬂgwd faeT &7 TOa L

a) ASP.NET ) oiScae 2er-8ei=a BIHS

b) JSON i) ASHIETFe T SRfaa Tav-uEs Tt des

c) Clang li) 3T A Neee Seew Auede A

d) MariaDB iv) C, C++, 3TexAfaea-C 3T 3eafFea-C++ Qranfaer sorat (fea=n)
¥ forT FugeR e U

Options :



1465872129. ¥ a-ii;b-i;c-iv; d - iii
1465872130. # a-i;b-ii;c-1iv; d - iii
1465872131. # a-ii;b-iii;c-iv;d-1i
1465872132. # a-ii;b-i;c-iii;d-iv

Question Number : 34 Question Id : 146587534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The visual J++ programming language was introduced by
Options :

1465872133. ¥ Microsoft

1465872134, % IBM

1465872135. # Sun Microsystems

1465872136. ¥ HP

Question Number : 34 Question Id : 146587534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Q3 J++ TYUTIERT HIWT (7o) FREREIRERI
Options :

1465872133. ¥ HIZHIMIUT (Microsoft)
1465872134, % IBM

1465872135, # WW&IW (Sun Microsystems)
1465872136. ¥ HP

Question Number : 35 Question Id : 146587535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
WML is an application of

Options :

1465872137. ¥ SGML



1465872138. ¥ XML
1465872139. ¥ DHTML
1465872140. # F#

Question Number : 35 Question Id : 146587535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
WML, CRNINENE RS
Options :

1465872137. ¥ SGML

1465872138. ¥ XML

1465872139. ¥ DHTML
1465872140. ¥ F#

Question Number : 36 Question Id : 146587536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns and select the most appropriate option from those given below.

a) DB2 1) Simple, modern, object-oriented and type-safe programming language
developed by Microsoft
b) C# i) Database system developed by IBM
¢) Django iii) Lightweight data-interchange format
d) JISON iv) High-level Python Web framework
Options :

1465872141. ¥ a-ii; b-1i; ¢ - iv; d - iii
1465872142, # a-i;b-ii; ¢ - iv; d - iii
1465872143, # a-ii; b-iii;c-iv; d - i
1465872144, % a-ii;b-1iv;c - i; d - iii



Question Number : 36 Question Id : 146587536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

mﬂmﬁmﬁﬁmﬁwﬁﬁ@mﬁ?wgwdT&chof'-!a?rﬂart F1{

a) DB2 i) FEHEFE AR RFfa 7y, yfae, destae-3Rees IR T39-a%
QT orer (Sfva)
b) C# i) IBM garT Tfaa seeT Bwa
¢) Django iii) FTSeae 2aT-Se=T FIHS
d) JSON iv) gTE-oi g TSy 39 hAdS
Options :

1465872141. ¥ a-ii; b-1i; ¢ - iv; d - iii
1465872142. # a-1i;b-1ii; c-1iv;d - iii
1465872143. # a-ii;b-iii;c-iv;d-i
1465872144. # a-ii;b-iv;c-1i;d - iii

Question Number : 37 Question Id : 146587537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the full form of IETF?

Options :

1465872145, ¥ Internet Engineering Task Force
1465872146. # Intranet Engineering Task Force
1465872147. # Internet Engine Task Force
1465872148. # Internet Engineering Task Ford



Question Number : 37 Question Id : 146587537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IETF &1 01 &0 341 87

Options :

1465872145. ¥ Internet Engineering Task Force (3?@_6 gﬁﬂﬁaﬁ_ﬂ CReh qﬁﬁ)
1465872146. * Intranet Engineering Task Force (s‘glﬁ‘c' sﬁﬂﬁﬂﬁ_"f CRb t.bﬁﬁ)
1465872147. # Internet Engine Task Force ('{;CQ'}IC gl ¢ tﬁ?f)
1465872148. # Internet Engineering Task Ford (E'E@_C' gﬁﬂﬁaﬁ_"[ CRh qﬁé)

Question Number : 38 Question Id : 146587538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the odd one out with respect to information security.
Options :

1465872149. # Encryption

1465872150. #* Steganography

1465872151. * Digital certificate

1465872152. ¥ Information retrieval

Question Number : 38 Question Id : 146587538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T Y&T (information security) & Gy T ST DT I DY |
Options :

1465872149, % TFHWR (Encryption)

1465872150. % UG (Steganography)

1465872151, % fSISTCe UHIUI UF (Digital certificate)
1465872152. ¢ G G: UG (Information retrieval)

Question Number : 39 Question Id : 146587539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
permits data to be hidden in large, complex, and redundant data sets.
Options :
1465872153. ¥ Steganography
1465872154. # Cryptography
1465872155. # Geography
1465872156. # Cryology

Question Number : 39 Question Id : 146587539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AP §g, Wfed 3R 3FERI® 3T (redundant data) TT B f5UM & SrIAM ST B
Options :

1465872153, ¢ CURITWI (Steganography)

1465872154, % fHURITHY (Cryptography)

1465872155, % TSTOTHT (Geography)

1465872156. % SBIAIAISH (Cryology)

Question Number : 40 Question Id : 146587540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The full form of ICMP, which is used in the internet layer of TCP/IP, is:
Options :

1465872157. ¥ Internet Control Message Protocol

1465872158. # Internet Control Manage Protocol

1465872159. # Intranet Control Message Protocol

1465872160. # Internet Computing and Manage Protocol

Question Number : 40 Question Id : 146587540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



TCP/IP &1 Sc3-Ic OAR | Ugad ICMP &1 gUI = 1 52

Options :

1465872157. ¥ Internet Control Message Protocol ('{;CQ:IC Gbg\lﬂ R CRe C\ch\lld)
1465872158. * Internet Control Manage Protocol (32@_6 Wgﬁa e th‘cﬁﬁa)

1465872159. # Intranet Control Message Protocol (3?;@? Eb_gﬁﬁ BRI Chaib—\llﬁ)

1465872160. # Internet Computing and Manage Protocol (3 a3 a’m:ﬁf_"[ Us EEKc) m

Question Number : 41 Question Id : 146587541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of cloud computing from the following?
Options :

1465872161. ¥ On-demand self-service

1465872162. % Measured service

1465872163. ¥ Resource pooling

1465872164. ¥ Capital expenses

Question Number : 41 Question Id : 146587541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafed # 3§ oF @ Farss Swfe &1 fagivdar 98t 82
Options :

1465872161, # 3{T-fSATS Yeb-TfdT (On-demand self-service)
1465872162, # oIS gfdy (Measured service)

1465872163, # ﬁ@ﬁt@ﬂ (Resource pooling)

1465872164. ¥ HfUcd ToOIY (Capital expenses)

Question Number : 42 Question Id : 146587542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the following:

A)LAN 1) A cable TV network

B) MAN 2) Network within school campus

C) PAN 3) Internet

D) Public WAN 4) Wi-Fi network at home for connecting mobile, printer. laptop etc.
Options :

1465872165. ¥ A—2;B-1,C—-4;,D -3
1465872166. * A-2;B-1,C-3;D-4
1465872167. * A-2;B-4,C—-1;D-3
1465872168. #* A-2;B-3;C-4;,D-1

Question Number : 42 Question Id : 146587542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fr=fafeg &1 Fea #:1

A) LAN 1) Faer & Acas
B) MAN 2) Tper IRET & offaX Feas
C) PAN 3) geTAT

D) Public WAN | 4) #rersd, fieT, soea #1fg & Fase 7=
& foT o)X W IR-%1g AcTh

Options :
1465872165. ¥ A-2;B-1,C—-4;D-3



1465872166. ¥ A-2;B-1;C-3;D—4
1465872167. ¥ A-2;B-4;,C—-1;D -3
1465872168. # A-2;B-3;C—-4;D -1

Question Number : 43 Question Id : 146587543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows is a (an) developed by Microsoft.
Options :

1465872169. ¥ Operating system

1465872170. #* Compiler

1465872171. # Utility program

1465872172. # Interpreter

Question Number : 43 Question Id : 146587543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows, Microsoft gIRT IEEARG Udh %I
Options :

1465872169. ¥ SHIRIT ReH

1465872170. # HUFAR

1465872171, # gfeferct wumw

1465872172, % U

Question Number : 44 Question Id : 146587544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

File name has primary and secondary names. The secondary name of the file is also referred as
Options :

1465872173. ¥ Extension

1465872174. # Tuple



1465872175. ¥ Characteristics
1465872176. # Type

Question Number : 44 Question Id : 146587544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forelt IS d o1 T WUl 3R U fgdiasd 1 g1l ¢ | fgdias | &1 W T Srar gl
Options :

1465872173. ¥ TRICYH (extension)

1465872174. # CUA (Tuple)

1465872175. # Wﬁ(characteristics)

1465872176. % TT3T (type)

Question Number : 45 Question Id : 146587545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following software is used to create and store databases?
Options :

1465872177. # Operating System

1465872178. # Utility Software

1465872179. ¥ Database Management System

1465872180. # Data Manager

Question Number : 45 Question Id : 146587545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fofefad & 3 g TlucdtR &1 ITAT Serad B fohue B 3R TR B & e faar S g2
Options :

1465872177, % TR REeq
1465872178. ¥ gfefarct QideaR

1465872179, ¢ ScTag Aviic Riew




1465872180. ¥ ST TR

Question Number : 46 Question Id : 146587546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the columns, Data type with sample data, used by various application software.

a) Character | i) 01-Feb-1979

b) Date ii) “*hello friends™

¢) Float iii) 199

d) Integer iv) 19.9

Options :

1465872181. ¥ a—ii; b—1; c —iv; d —iii
1465872182. ®* a—1i;b—1ii; c —iv; d —iii
1465872183. ®* a—ii;b—1;c—iil;d—1iv
1465872184. * a —iii;b—1i;c—iv;d -1

Question Number : 46 Question Id : 146587546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



FloAl F1 Fea Hifaw, duer swer gFa =T v, e oftasrs g garr 93|

a) Character | i) 01-Feb-1979

b) Date i) “hello friends”

¢) Float iii) 199

d) Integer iv) 19.9

Options :

1465872181. ¥ a—ii; b—1; c —iv; d —1iii
1465872182. ®* a—1i;b—1ii; c—iv; d —1iii
1465872183. ®* a—ii;b—1;c—iii;d—1iv
1465872184. ® a —iii;b—1i;c—iv; d -1

Question Number : 47 Question Id : 146587547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the use of PowerPoint?
Options :

1465872185. # To print messages
1465872186. ¥ To make presentations
1465872187. * To do calculations
1465872188. # To manage databases

Question Number : 47 Question Id : 146587547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PowerPoint BT IYTNT CRIEIGI

Options :



1465872185. % HIS B! fiie B & forg
1465872186. ¢ USIe¥H g4 & faw
1465872187. % TUMTE B & fad
1465872188. % STIa & Jaed & faw

Question Number : 48 Question Id : 146587548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the output of the keyboard shortcut “Ctrl + Shift + :” in MS-Excel?
Options :

1465872189. # Current Date

1465872190. # Current Month

1465872191. # Current year

1465872192, ¢ Current Time

Question Number : 48 Question Id : 146587548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS-Excel #, B1-818 Qe “Ctrl + Shift + :” BT 3TITYE T G2
Options :

1465872189. # gaT fafdy

1465872190. # AT AIG

1465872191, % gfA a9

1465872192, ¢ TdHM THY

Question Number : 49 Question Id : 146587549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS Excel formula?

=REPT(“MMA”,3)
Options :



1465872193. ¥ MMA
1465872194. ¥ MMAMMA
1465872195. ¥ MMAMMAMMA
1465872196. ¥ MMAMMAMM

Question Number : 49 Question Id : 146587549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AR MS Excel G &1 &7 ST3CYC BRTT?

=REPT(“MMA”,3)

Options :

1465872193. ¥ MMA
1465872194. ¥ MMAMMA
1465872195. ¥ MMAMMAMMA
1465872196. ¥ MMAMMAMM

Question Number : 50 Question Id : 146587550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

There are rows in an MS Excel 2016 worksheet.
Options :

1465872197. ¥ 1048576

1465872198. # 55555

1465872199. # 65536

1465872200. # 65555

Question Number : 50 Question Id : 146587550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MS Excel 2016 &1 dh2fie H Ufaaal (rows) 1 T fasd-t gl 82

Options :



1465872197. ¥ 1048576
1465872198. # 55555
1465872199. # 65536
1465872200. # 65555



